P LB
60
8 h9
20 >
© 5 50 /' -
3 { : 3
i Q —g
N
o
o 2 30 h6
\r N / -~ |
14 180 T T
105 215 ——%I Tk
143 %
- =
7.5 Sla
22
L8 2 g
P 250
60
5| 50 X s
— —— ; o N
= R 1 |
== o o (NN
1ol N
£ ko o
H N ——
l N3 14
4 )
7
5
e
8
8
Cﬂ ] oL P _
M | M1 | M2 | N | N1 | N2 | N3 N4 X i '{E]
AS 30_071 14 1163 | 5 160 | 130 | 110 - M8x16 5 284 | 284 - 23
AS 30_080 19 |218| 6 200 | 165 | 130 - M10x12 4 284 | 284 | 311 | 23
AS 30_090 24 1273| 8 200 | 165 | 130 - M10x12 4 284 | 284 | 311 | 23
AS 30_100 28 313 | 8 250 | 215 | 180 - M12x16 5 284 | 284 | 311 | 23
AS 30_112 28 |31.3| 8 250 | 215 | 180 - M12x16 5 284 | 284 | 311 | 23
AS 30 D_071 14 |163| 5 160 | 130 | 110 - M8x19 5 276 | 276 | 303 | 22.5
AS 30 D_080 19 |218| 6 200 | 165 | 130 - M10x19 5 281 | 281 | 308 | 22.5
AS 30 D_090 24 |273| 8 200 | 165 | 130 - M10x12 5 281 | 281 | 308 | 22.5
@ Bonfiglioli

76

Riduttori




